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Goal: make gradual typing fast



Goal: make gradual typing fast
(or at least usable)



"The end-product appears to be a 50%
performance hybrid due to boundary contracts"

"So far Typed Quad is running about 10x
slower than regular"

"From 1 ms to 12 seconds ...
| feel like 1 got a bit burned here"



If sound then slow
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Why bother?



Unsound Types are Dangerous!
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Unsound Types are Dangerous!

def getWords(str : String):
return str.split()



Unsound Types are Dangerous!

def getWords(str : String):
return str.split()

class Atom:
def split():



Unsound Types are Dangerous!
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List(Int) ) for n in list:

assert(int? n)
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